18-0093

CITY OF MANITOWOC

WISCONSIN, USA www.manitowoc.org



January 25, 2018

TO:

Mayor and Common Council

CONSENT

FROM:

Board of Public Works

SUBJECT:

2018 Sewer Re-Lining Project

WU-18-7

Dear Mayor and Common Council:

At the January 24, 2018 Board of Public Works meeting, the Board met to receive e-bids for 2018 Sewer Re-Lining, Project WU-18-7. City Clerk reported having received five (5) e-bids. Same was opened and accepted online through Quest, and is as follows:

| Bidder | Bid Bond | Amount |
|--|----------|--------------|
| Michels Corporation | Bid Bond | \$502,075.70 |
| Visu-Sewer | Bid Bond | \$505,298.10 |
| Terra Engineering & Construction Corp. | Bid Bond | \$555,965.50 |
| Lametti and Sons, Inc. | Bid Bond | \$558,350.00 |
| Insituform Technologies USA, LLC | Bid Bond | \$590,240.90 |

"Moved by City Attorney Kathleen McDaniel, seconded by Alderman Lee Kummer, and unanimously carried to refer the bids to the Director of Public Infrastructure for tabulation and recommendation. Ayes, 6. Nays, none."

Very Truly Yours,

DEBORAH NEUSER

Secretary Board of Public Works

DN:mrk

Deborah Neuser, CMC, City Clerk
CITY HALL · 900 Quay Street · Manitowoc, WI 54220-4543
Phone (920) 686-6950 · Fax (920) 686-6959 · dneuser@manitowoc.org





Plan Holder Report as of 01/24/2018 11:19:01 AM CST City of Manitowoc, WI #WU-18-7 SEWER RE-LINING PROJECT (eBidDoc #5487814) Contact: Greg Minikel Phone: 920-686-6910

E-mail: Bid Date: gminikel@manitowoc.org 01/24/2018 04:00 PM CST

Help

| Company | Contact | Designation | Bus. Types | Entry Date | Doc Туре | Comments |
|--|---|--------------|------------|------------|-----------------|----------|
| Michels Corporation 817 W. Main Street Brownsville, WI 53006 | David Phelps Phone: 503-364-1199 Fax: 503-391-8317 Email: dphelps@michels.us | Prime Bidder | | 01/11/2018 | eBidDoc | |
| Visu-Sewer W230 N4855 Betker Drive Pewaukee, WI 53072 | Mike Blazejovsky Phone: 262-695-2340 Fax: 262-695-2359 Email: visu-info@visu-sewer.com | Prime Bidder | | 01/11/2018 | eBidDoc | |
| Insituform Technologies USA, LLC 1177 Birch Lake Blvd. N White Bear Lake, MN 55110 | Mitchell Hoeft Phone: 651-253-0236 Fax: 612-465-3235 Email: mhoeft@insituform.com | Prime Bidder | | 01/11/2018 | eBidDoc | |
| ConstructConnect 3825 Edwards Rd Cincinnati, OH 45209 | Eric Mills Phone: 800-364-2059 Fax: 866-570-8187 Email: content@constructconnect.com | Plan Room | | 01/12/2018 | eBidDoc | |
| Terra Engineering & Construction Corp. 2409 Vondron Road Madison, WI 53718 | Nancy Lee Phone: 608-221-3501 Fax: 608-221-4075 Email: terra@whyterra.com | Prime Bidder | | 01/12/2018 | eBidDoc | |
| Lametti and Sons, Inc. 16028 Forest Blvd. N., P.O. Box 477 Hugo, MN 55038 | Kris M Phone: 651-426-1380 Fax: 651-426-0044 Email: krism@lametti.com | Prime Bidder | | 01/12/2018 | eBidDoc | |
| Dodge Data & Analytics 4300 Beltway Place Suite 180 Arlington, TX 76018 | Melanie Yancey Phone: 8175278246 Fax: 8175278246 Email: dodge.docs@construction.com | Plan Room | | 01/15/2018 | eBidDoc | |

Bid Evaluation



Contact Quest

Logout

The Construction Industry's Premier Bid Management System

• Home

Bid Requirements

Bid Letting

Item Codes

Sonja Birr

#WU-18-7 SEWER RE-LINING PROJECT (#5487814)

Owner: City of Manitowoc, WI Solicitor: City of Manitowoc, WI

Show Evaluation Options

01/24/2018 04:00 PM CST

Sections shown in this color are not included in the Base Bid Total - Required completion Sections shown in this color are not included in the Base Bid Total - Optional completion Sections shown in this color are fixed and cannot be edited by the bidder

| | | | | | Michels Corporation | | Visu-Sewer | | Terra Engineering & Construction Corp. | | Lametti and Sons, Inc. | | Insituform Technologie USA, LLC | |
|-------------|------------------|--|-----------------|------------------------------------|---------------------|-----------------------------|------------|-----------------------------|--|-----------------------------|------------------------|-----------------------------|------------------------------------|-----------------------------|
| | | | | | ONLINE | Docs | ONLINE | Docs | ONLINE | Docs | ONLINE | Docs | ONLINE | Docs |
| | | | Accepted | | Accepted | | Accepted | | Accepted | | Accepted | | | |
| Line Item | Item Code | Item Description | UofM | Quantity | Unit Price | Extension | Unit Price | Extension | Unit Price | Extension | Unit Price | Extension | Unit Price | Extension |
| 8 | 8 | Furnish & Install 21* Sanitary Sewer Re-line with CIPP | LF | 696 | \$77.50 | \$53,940.00 | \$81.85 | \$56,967.60 | \$83.00 | \$57,768.00 | \$57.00 | \$39,672.00 | \$124.80 | \$86,860.80 |
| 9 | 9 | Furnish & Install 24" Sanitary Sewer Re-line with CIPP | LF | 438 | \$93.00 | \$40,734.00 | \$105.50 | \$46,209.00 | \$84.00 | \$36,792.00 | \$62.00 | \$27,156.00 | \$168.90 | \$73,978.20 |
| 10 | 10 | Lateral Reinstatement | EA | 180 | \$84.50 | \$15,210.00 | \$50.00 | \$9,000.00 | \$50.00 | \$9,000.00 | \$150.00 | \$27,000.00 | \$110.90 | \$19,962.00 |
| | | Re-Lining Sanitary Sewer | rs at Various L | ocations Total: | | \$462,881.50 | | \$480,924.60 | | \$516,861.50 | | \$519,456.00 | | \$555,026.50 |
| Re-Lining S | torm Sewers at V | arious Locations | | | | | | | | | | | | |
| 11 | 11 | Mobilization | LS | 1 | \$5,630.00 | \$5,630.00 | \$850.00 | \$850.00 | \$5,000.00 | \$5,000.00 | \$1,000.00 | \$1,000.00 | \$5,000.00 | \$5,000.00 |
| 12 | 12 | Traffic Control | LS | 1 | \$1,550.00 | \$1,550.00 | \$100.00 | \$100.00 | \$2,000.00 | \$2,000.00 | \$400.00 | \$400.00 | \$1,388.40 | \$1,388.40 |
| 13 | 13 | Furnish & Install 10" Storm Sewer Re-line with CIPP | LF | 184 | \$46.80 | \$8,611.20 | \$25.50 | \$4,692.00 | \$39.00 | \$7,176.00 | \$48.00 | \$8,832.00 | \$31.70 | \$5,832.80 |
| 14 | 14 | Furnish & Install 12" Storm Sewer Re-line with CIPP | LF | 393 | \$39.75 | \$15,621.75 | \$34.75 | \$13,656.75 | \$40.00 | \$15,720.00 | \$50.00 | \$19,650.00 | \$36.60 | \$14,383.80 |
| 15 | 15 | Furnish & Install 15" Storm Sewer Re-line with CIPP | LF | 99 | \$76.25 | \$7,548.75 | \$50.25 | \$4,974.75 | \$92.00 | \$9,108.00 | \$88.00 | \$8,712.00 | \$86.00 | \$8,514.00 |
| 16 | 16 | Lateral Reinstatement | EA | 2 | \$116.25 | \$232.50 | \$50.00 | \$100.00 | \$50.00 | \$100.00 | \$150.00 | \$300.00 | \$137.70 | \$275.40 |
| | | Re-Linina Storm Sewer | | ocations Total: Base Bid Total: | | \$39.194.20 \$502,075.70 | | \$24.373.50 \$505,298.10 | | \$39.104.00 \$555,965.50 | | \$38.894.00 \$558,350.00 | | \$35.394.40 \$590,420.90 |

Post Prelim Bid Tabs

Export to CSV

Done

#WU-18-7 SEWER RE-LINING PROJECT (#5487814)

BID DATE: JANUARY 24, 2018

| | | | Michels Corporation | | Visu-Sewer | | Terra Engineering & Construction Corp. | | Lametti and Sons, Inc. | | Insituform Technologies USA, LLC | |
|--|------|-------|---------------------|--------------|--------------|--------------|--|--------------|------------------------|--------------|-------------------------------------|--------------|
| Ln # Item Description | UofN | / Qty | Unit Price | Extension | Unit Price | Extension | Unit Price | Extension | Unit Price | Extension | Unit Price | Extension |
| Re-Lining Sanitary Sewers at Various Locations | | | \$462,881.50 | | \$480,924.60 | | \$516,861.50 | | \$519,456.00 | | \$555,026.50 | |
| 1 Mobilization | LS | 1 | \$7,040.00 | \$7,040.00 | \$7,850.00 | \$7,850.00 | \$26,000.00 | \$26,000.00 | \$18,000.00 | \$18,000.00 | \$25,931.80 | \$25,931.80 |
| 2 Traffic Control | LS | 1 | \$11,565.00 | \$11,565.00 | \$5,250.00 | \$5,250.00 | \$47,000.00 | \$47,000.00 | \$5,000.00 | \$5,000.00 | \$8,818.30 | \$8,818.30 |
| 3 Furnish & Install 8" Sanitary Sewer Re-line with CIPP | LF | 9331 | \$19.75 | \$184,287.25 | \$20.75 | \$193,618.25 | \$20.50 | \$191,285.50 | \$25.00 | \$233,275.00 | \$20.30 | \$189,419.30 |
| 4 Furnish & Install 10" Sanitary Sewer Re-line with CIPP | LF | 2463 | \$23.00 | \$56,649.00 | \$25.50 | \$62,806.50 | \$23.00 | \$56,649.00 | \$26.00 | \$64,038.00 | \$24.50 | \$60,343.50 |
| 5 Furnish & Install 12" Sanitary Sewer Re-line with CIPP | LF | 1052 | \$36.25 | \$38,135.00 | \$34.75 | \$36,557.00 | \$33.50 | \$35,242.00 | \$45.00 | \$47,340.00 | \$27.30 | \$28,719.60 |
| 6 Furnish & Install 15" Sanitary Sewer Re-line with CIPP | LF | 1000 | \$41.75 | \$41,750.00 | \$50.25 | \$50,250.00 | \$44.00 | \$44,000.00 | \$48.00 | \$48,000.00 | \$47.70 | \$47,700.00 |
| 7 Furnish & Install 18" Sanitary Sewer Re-line with CIPP | LF | 105 | \$129.25 | \$13,571.25 | \$118.25 | \$12,416.25 | \$125.00 | \$13,125.00 | \$95.00 | \$9,975.00 | \$126.60 | \$13,293.00 |
| 8 Furnish & Install 21" Sanitary Sewer Re-line with CIPP | LF | 696 | \$77.50 | \$53,940.00 | \$81.85 | \$56,967.60 | \$83.00 | \$57,768.00 | \$57.00 | \$39,672.00 | \$124.80 | \$86,860.80 |
| 9 Furnish & Install 24" Sanitary Sewer Re-line with CIPP | LF | 438 | \$93.00 | \$40,734.00 | \$105.50 | \$46,209.00 | \$84.00 | \$36,792.00 | \$62.00 | \$27,156.00 | \$168.90 | \$73,978.20 |
| 10 Lateral Reinstatement | EA | 180 | \$84.50 | \$15,210.00 | \$50.00 | \$9,000.00 | \$50.00 | \$9,000.00 | \$150.00 | \$27,000.00 | \$110.90 | \$19,962.00 |
| Re-Lining Storm Sewers at Various Locations | | | \$39,194.20 | | \$24,373.50 | | \$39,104.00 | | \$38,894.00 | | \$35,394.40 | |
| 11 Mobilization | LS | 1 | \$5,630.00 | \$5,630.00 | \$850.00 | \$850.00 | \$5,000.00 | \$5,000.00 | \$1,000.00 | \$1,000.00 | \$5,000.00 | \$5,000.00 |
| 12 Traffic Control | LS | 1 | \$1,550.00 | \$1,550.00 | \$100.00 | \$100.00 | \$2,000.00 | \$2,000.00 | \$400.00 | \$400.00 | \$1,388.40 | \$1,388.40 |
| 13 Furnish & Install 10" Storm Sewer Re-line with CIPP | LF | 184 | \$46.80 | \$8,611.20 | \$25.50 | \$4,692.00 | \$39.00 | \$7,176.00 | \$48.00 | \$8,832.00 | \$31.70 | \$5,832.80 |
| 14 Furnish & Install 12" Storm Sewer Re-line with CIPP | LF | 393 | \$39.75 | \$15,621.75 | \$34.75 | \$13,656.75 | \$40.00 | \$15,720.00 | \$50.00 | \$19,650.00 | \$36.60 | \$14,383.80 |
| 15 Furnish & Install 15" Storm Sewer Re-line with CIPP | LF | 99 | \$76.25 | \$7,548.75 | \$50.25 | \$4,974.75 | \$92.00 | \$9,108.00 | \$88.00 | \$8,712.00 | \$86.00 | \$8,514.00 |
| 16 Lateral Reinstatement | EA | 2 | \$116.25 | \$232.50 | \$50.00 | \$100.00 | \$50.00 | \$100.00 | \$150.00 | \$300.00 | \$137.70 | \$275.40 |
| Base Bid Tota | al: | | \$502,075.70 | | \$505,298.10 | | \$555,965.50 | | \$558,350.00 | | \$590,420.90 | |

Recommend Awarding to the I.w bidder S.J.M. 1/26/18